BC Calculus – FDW 3rd Edition – Section 1.6 Even Answers

Quick Review 1.6

2. 
[image: image1.wmf]450

p

°

-

   4. 
[image: image2.wmf]4

Rad

p

   6. x = 1.982, 4.301   8. f(-x) =2(-x)2 + 3 = 2x2 + 3 = f(x), hence even. 

The y-axis symmetry arises since (x, f(x)) is on the graph iff (-x,f(x)) is on the graph.
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Section 1.6
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 6. odd  8. odd  10. 
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12.(a) p = 
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  (b) Reals (c) [1,5]    14.(a) p = 
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  (b) Reals  (c) [-2,2]
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22.(a) 2  (b) 1  (c) [-4,4] by [-2,2]   
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  (b) half the difference, so a = 25  (c) k = 55  (d) h =5,
[image: image20.wmf](

)

(

)

6

25sin555

yt

p

=-+
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 30.  .795R or 45.573o 
32. x = 8.629, 10.220   34. x = -1.911, 1.911   36. 
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42. 
[image: image27.wmf]9

88

   44.(a) Highest: 62oF, Lowest: -12oF  (b) Avg = 25oF. The unshifted average for a sine wave is 0, so when the curve is verticall shifted, the average shifts by that amount also.

46. csc(-x) = 1/sin(-x) = -1/sin(x) = -csc(x), hence odd
48. From the graph, the asymptotes of one period are at -
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50. False. p = 
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   52. D   54. E   
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BC Calculus – FDW 3rd Edition – Section 1.6 Even Answers (continued)

58.
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and multiplying through by the square root gives the result.





60. The graph still repeats after a period, p = 
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Quick Quiz – Sections 1.4 – 1.6
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Chapter 1 – Review Exercises

2. 
[image: image43.wmf]3

1

22

yx

=-+

  4. y = -2x   6. 
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 8. y = 2x – 5  10. 
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  16. y-axis  18. y-axis  20. odd  22. odd  24. neither  26. even 
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  36.(a) Reals  (b) Reals  38.(a) [-2,2] (b) [-1,1]
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BC Calculus – Chapter 1 Review - Even Answers (continued)
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56. -1.161 Rad or -66.501o  58.(a) x = 3.343, 6.082 (b) x = 3.343 + 
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62.(a) y = 100,000 – 10,000x, [0,10]  (b) after 4.5 years  64. 15.644 years 

66.(a) 41.770x + 414.342  (b) 1333 < actual number by 99

68.(a) -1  (b) y = -x – 1 (c) y = x + 3  (d) 2  70.(a) Reals (b) [-2,4]  (c) 
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